Problem-8

(  Hypotheses

             Ho: Pw=Psp=Psu=Pf=1/4

             Ha: atleast one of the proportions is different.

   Where Pw= Proportion of homocides in winter.

              Psp= Proportion of homocides in spring.

              Psu= Proportion of homocides in  summer.

              Pf  = Proportion of homocides in fall.

(  Test- Statistic

                               Winter      Spring        Summer       Fall 

_____________________________________________________________

Observed                  328           334              372           327        

Expected                  340.25      340.25         340.25      340.25

_____________________________________________________________

  Note that the expected frequencies are (n*1/4)=1361*1/4=340.25

X2=(328-340.25)2/340.25+(334-340.25)2/340.25+(372-340.25)2/340.25

      +(327-340.25)2/340.25

   =4.03

P-value=Probability(X2>4.03)=0.2582

(  Conclusion

 Since the P-value is greater than the usual ( values, we fail to reject Ho.    

